Ji TH
INDUSTRIES INC.

SYRACUSE, NEW YORK - SALES@JAQUITH.coMm (315) 478 - 5700 WWW.JAQUITH.COM

OPTIONAL FEATURES
---LIGHT BASE GROUNDING OPTIONS---

%@4%:::::::::::%1}@ EXTERNAL %@ilm:::::::::::zdm
i GROUNDING f
ROD \
(304 S9) |
EXTERNAL INTERNAL INTERNAL
GROUNDING GROUNDING GROUNDING
STRAP \J STRAP N 3— STRAP N
< \ 4 (OPTIONAL) | FLEX CONNEX
FLEX CONNEX i GROMMET
GROMMET . i
I ]
THREADED% <L = THREADED l

HUB —TYPICAL LIGHT BASE~ nos —-TYPICAL LIGHT BASE--

---LIGHT BASE DRAINS---

STD. LOCATION'S (SHOWN)
NON STD. LOCATION'S ARE AVAILABLE

%(zqm:::::::::::zdw@ mﬂm:::::::::::zajyz? mﬂm:::::::::::m#ﬂ@
e====== | =======k =========|.========\= ulnawgaw@—l_—@annwzmmg
LF | |
DRAIN -DRAIN HOLE- DRAIN
1/2" AND LARGER 3/4" STANDARD -FLEX CONNEX-
COUPLING

K-01h (rev 0)



J JITH
NDUSTRIES INC.

SYrRAcuSE, NEW YORK - SALES@uAQUITH.coM (315) 478 - 5700 WWW.JAQUITH.COM

@ 7> LightBases
DS with
"FLEX CONNEX"

\‘*L_*__/// Solid Grommets punched to size

1. See dwg. # J-04 for other sizes
of "Flex Connex" available. WZIM:::::::::::M':W?

S

S

]

§

N

S

]

i

[

2. Other nonstandard sizes can be
punched from solid "Flex Connex".

DETAIL A
T <
/ \

T \ N
4 AN ] ’/
/"FLEX CONNEX" =~ v
NOTE FLEXIBILITY ALLOWS
/ = ALIGNMENT OF CONDUIT
L 867 & L 868--

T===7-~71

j
|
\

\
\

|__——u
-
.

\. CONDUIT 7

\:zzzzzrﬂlzzzz'&}« ‘<

_-

c—— - —

-DETAIL A--

SECTION THRU
FLEX CONNEX

K-02h (rev 0)



ﬂ TH
NDUSTRIES INC.

SYRACUSE, NEW YORK - SALES@JAQUITH.COM (315) 478 - 5700 WWW.JAQUITH.COM

Base Plate & Cover Grounding Options

1. For Grounding Heavy Base Plates and Covers with threaded openings

HHCS 10-24 x 1/2
SERRATED WASHER
#6 AWG RING TERMINAL

6125G HARDWARE PACKUP
2. For Grounding Base Plates with a Hub

THESE 3 HOLES FOR
ATTACHING CABLE CLAMP

6120G HARDWARE PACKUP
3. For Cover Plates and Heavy Base Plates (less than ¥;" thick)

1/4-20 x 1% WASHER

HEAD CAP SCREW H NEOPRENE
(1068-063Q2 I SEAL WASHER

[—] % (1068-0631>

(@) 1/4-20 SS NUTS
(2068-1022>

174’ RING TERMINAL
for AWG #6
€1090-0532>

6121G HARDWARE PACKUP
4. For Cover Plates and Heavy Base Plates ( %" and thicker)

ey

174’ RING TERMINAL @) 1/4-20 x 1/2 HHCS

for AWG #6 €1068-0050>
€1090-0532)

6124G HARDWARE PACKUP K-04h (rev 0)



TH %% Awso927 &

NC AWS0928
svircuse, Wew o - smeseonsuirn.con 19 w75 somwssanco R@trOFit
Grounding Bracket
With AWS0919
Ground Clamp
Assembly

TOP FLANGE OF L868 BOTTOM SECTION, L868
MIDDLE SECTION OR L867 EDGE LIGHT BASE

AWS0928 RETROFIT GROUNDING BRACKET E&;?%Eh@?‘gﬁ 8; tggfgg%ﬁlifgho“‘
WITH AWS0919 GROUND CLAMP ASSEMBLY

SS RETROFIT GROUNDING
BRACKET %;" WIDE X 1" X 2"

1. Material for Retrofit Grounding Bracket and all attaching
hardware is 300 series stainless steel.

3/8" SS 2-PIECE

2. For L868 use one of (6) available tapped holes for attachment. LOCKWASHER
3/8" SS HEX NUT
3. Drill & Tap an additional hole in Top Flange of L867 light Base 3/8" SS HEX HD

CAP SCREW

5/16" SS HEX
HD CAP SCREW
WITH LOCKNUT

WS0919 COPPER

4. AWS0927 Retrofit Grounding Bracket Packup consists of the
following items:

) - SS Retrofit Grounding Bracket Pt.No. 8262

- Copper Ground Clamp Assembly Pt.No. AWS(0919
-3/8-16 x 1 4" Lg Hex Head Cap Screw Pt.No. 1065-0205

(1

(1
(1
(1
(1
(1
(1

)

)

) - %" SS 2-Piece Lockwasher Pt.No. 1068-0607 AWS0927 GROUND CLAMP
) - %" SS Hex Nut Pt.No. 1068-0719 ASSEMBLY
)-5/16-18 x 1)4" Lg SS Hex Hd Cap Screw Pt.No. 1065-5031

) - 5/16-18 SS Locknut Pt.No. 1068-1778 L868 TOP FLANGE OF LIGHT BASE, TOP

5. AWS0928 Retrofit Grounding Bracket Packup consists of the
following items:

1) - SS Retrofit Grounding Bracket Pt.No. 8262

1) - Copper Ground Clamp Assembly Pt.No. AWS(0919

1) - 3/8-16 x }4" Lg Hex Head Cap Screw Pt.No. 1065-1702
1) - %" SS 2-Piece Lockwasher Pt.No. 1068-0607
1)
1)

SECTION OR EXTENSION - SEE NOTE #2
KLSG? TOP FLANGE -SEE NOTE #3

3/8" SS 2-PIECE
LOCKWASHER

3/8" SS HEX
HD CAP SCREW

K-05h (rev 0)

-5/16-18 x 1 1/4" Lg hex Head Cap Screw Pt.No. 1065-5031
- 5/16-18 Locknut Pt.No. 1068-1778
AWS0928

SS RETROFIT GROUNDING
BRACKET %;" WIDE X 1" X 2"



	K-01h (rev 0)
	K-02h (rev 0)
	K-04h (rev 0)
	K-05h (rev 0)

